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" (For the candidates admitted from 2017-2018 onwards)
B.A. LL.B. DEGREE (SEMESTER) EXAMINATIONS, DECEMBER 2022.
(Five-year Regular Course) '
Fourth Year — Seventh Semester

BANKING LAW

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.
G emeumeuaTaupmIGT @i h@ eateumnm elameihEb gnssmp 500 Herpsafld
e waflGsayw.

1.  Define ‘Negotiable Instrument’ and explain the salient features of Negotiable
instrument.

“OrppepUT@ID  aaumg eruep Qg  LOIHDIEP®DLITeGTSS 6
ApLiQwersemer alleréseb.

2! What are the criminal remedies available to the drawee in case of dishonour of
cheque under the Negotiable Instruments Act, 18817

LIHHIPEDWTEIET FLL b 1881-6m 8p em &rGsree wLHULY LHESLILLL
Aeoaulo srGeran Quppa®hEES SoLssamigu Ghpeilwed Sreuflser wrameal?

3. What are the advantages and disadvantages of nationalisation of Banks in
India?

@pdu aumdsar CaEuLLTESEIULL 6 HETaser WHMID SMDEET WTme ?
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

Qeaumeuareupmier @rerriaH@ eublain alameih@b gpssme 300 Qempaafle

afenL_wetl&se .
4. State and explain the attachment of deposits by the Income Tax Authorities.

au(pLomanalifls g,]as;m ofsrisamd @auliihsd uhDi®s QEuluL® eaTums
a(H&5 5P laréEs.




Ravi bd'raws‘ a Bill of Exchange payable at 50 days after the arrival of the ship

5. - Explain the principles that guide the banker in granting loans. 1 9. , .
| . erﬂp " & s ' » Q . : q &9 ! ‘ ‘Ganga’ at Vishakapattinam. Is the instrument valid? ' :
TeeT eflughH@ uRbsEns e (DL 556 LD. i - ‘ . . . o o
' e i ©6 WEQ&"'LQ,LD Mﬂ@mmsa upﬁ)] . m§ 4P N el eremLIGUiT ‘SRIST GTETD SLILID efgrsiiLyamnd abg@Lbs 50 HrL&ET s055
6. Explain the duties of banker. o LiaRTlb SHOIBTE @I LDTHHIEFL L aerdprr. @b geand CedguipLrGLr? -
RO Q—"-i“‘ﬁ”-’“m'ﬂ_“’ SL DS ‘ﬁm&@ﬁ- - ' : ‘ - 10. ‘A’ obtains a cheque and puts it in his- coat pocket. The coat is sent for dry
o -wash. Consequently the cheque becomes faded. Can the bank. refuse to pay it?

~ PART C— (5 x 4= 20 marks) ‘
| ' ¢ o aresiLcuiT STGETEM Qemdlanan Qupmy sigear Guordulie 2 drer ursG&L g6

meausgs Qsradlpri. SibS Cuendou o ai sooassts Qarhssausnm.
Sigen clleneTauns SipS srCsra® wiEd &ps. aundur ssTGeTmmamu ghe

mgnésscmrmn? ‘

7.  Write sho‘rt notes on FIVE of the followiﬁg:
 arapaaabger gifhe A GRuLsT awgs.
(a) Banker’s Lien : '

\ “audwfler upmfleno
(b) Crossing of cheques
snGsmaasmas GnEGs CamgL
(c). Traveller's chequ‘esv o
- uweflser asr;Gérrmmg,dT
(d) NABARD |
BUMT(H
(e) in@emmty Bond
FFI'.@@QD uSH g S - o ‘ E
@ Overdraft | .
Wena) uHm

(g) Paying banker

uentd Qa&TH&@WD cuiiSwir

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law and
' decided cases. Give cogent reasons.

Qemeu(meuaTeDIIGT @ramaHE FLL uUMSWHRISET O Smorefsaiir L m@g,@mm
&l &Hs sTrEmhsEsLE alaLwalésab. '
“p” sells gOOdS to “B”. “B” pays to “A” through a cheque before “B” cou'ld obtain

delivery of goods. But B’s cheque has been dishonoured by the bank. “A”
refuses to give delivery of goods until paid. Is A”s action justified?

“ o erdrruéur’r f‘.:%” LIS srsGsmar Apdetprt. “e” ererLeur Qi
snGsnae ppab “‘o’dlh@ sTEGs@er QU e LmIb smADTT. <y amd “oy”
Qanpsgierer srGereeullmen abidwir forsflss @& eammi. @éggpﬂnmwuﬁb
“of ererUair Lewd FHL b sTEGSMeT 57 wHSADTT. ‘e efler ‘
@&Qswd Hlumuwrersm? . : ‘
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